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If it is possible, give an example of the following. If it is not possible, explain why it is not
possible.

An integer that is not a whole number.

Choose the correct answer below.
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It is possible. An integer that is not a whole number is — 2.

It is not possible because every integer is a whole number.

It is not possible because every integer is a real number and every whole number is also
a real number.

It is possible. An integer that is not a whole number is V2 .
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Ifit is possible, give an example of the following. If it is not possible, explain why it is not
possible.

A whole number that is not a natural number.

Choose the correct answer below.
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It is possible. A whole number that it not a natural number is 0.
It is not possible because every whole number is a natural number.
It is possible. A whole number that it not a natural number is — 2.

It is not possible because every whole number is a real number and every natural
number is also a real number.
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